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; 100kN/mM%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#Z % — - ~ — —|3mZE#BZ B -~ — — —
Lt 1.00 | 000 ~ 519 64.75 | TN | 000 ~ 0.00| 1.64 8.78 znLs 1.00 | 6.00 ~ 56.70 64.75 | =nLS | 5.00 ~ 5.70 | 1.64 8.78
2 100kN/m#%#B25| 1.00| 000 ~ 1.28| 11946 |3m&EBzB| — ~ — — — | 100kN/mi%#Z25 | 1.00 | 1067 ~ 1512| 119.46 |3mE#BZS -~ — — —
Lt 1.00 | 1.28 ~ 9.07 100.00 | =nllst | 000 ~ 9.07] 229 12.25 znLs 1.00 | 5.00 ~ 10.67 100.00 | =hS | 5.00 ~ 1512|229 12.25
P 100kN/mM%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 | 000 ~ 682 86.32 | =hs | ooo ~ 682|176 9.40 znLs 1.00 | 5.00 ~ 8.534 86.32 | =ns |6.00 ~ 8534|176 9.40
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Zh LS ~ Th st ~ Zh LS ~ ThEsh ~
100kN/m#E#BZ % ~ ImEFERD ~ 100kN/m%#82 % ~ ImEFEZD ~
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